3/8-16 X 4" PHILLIPS FLAT HEAD
MACHINE SCREW (7 PER PLATE
@ 18" [457mm] O.C.) (JK176)
SOUND DAMPENING
SEAL (J7D001)

CONT. ALUM. COVER
PLATE (J7C067)

CONT. ALUM. RECESSED
FRAME (J7A010)

J

O
-

\ 31

[343mm]

T
[25mm]

STEEL CENTERING BAR
(WITH PRE-ATTACHED
COMPRESSION SPRING
ASSEMBLE) (7 PER PLATE @
18" [457mm] O.C.) (J7J006-W-7)

7

@ 18" [457mm] O.C.) (J6J036)
HIGH STRENGTH EPOXY

SS. ALLIGNMENT PIN (1 PER
./ PLATE) (J7A013)
‘/ NYLON SPACER (7 PER PLATE

GROUT (BY OTHERS)

HEX HEAD CONC. SCREW
(7 PER FRAME @ 18"
[457mm] O.C.) (JK173)

3/8" x 1 1/4" [M10x32] FLAT
HEAD DROPIN ANCHOR (6 PER

LOCATION:

PARKING STRUCTURE

6" "
REINF. EPDM VAPOR BARRIER — [152mm] 4" FRAME @ 18" [457mm] O.C.)
(JL024-RVB) NOTE: SET IN CONT. ~TMIN. BLOCKOUT ~ '~ [102mm] ! (JK214)
BED OF BUTYL SEALANT (BY PER SIDE
OTHERS) TERMINATE RVB AT
OUTSIDE EDGES OF SYSTEM
787-A01-100
MOVEMENT +
JOINT WIDTH HORIZONTAL | VERTICAL
Us mm us mm us mm
4" 102 2" o1 1" 25
FINISH: MILL
PROJECT: DATE: 2-14-19 [ )
APPLICATION-
CUSTOMER: FLOOR/FLOOR SCALE: 1:4 'npro
®

DOC: CADJM.041/R8

For More Information Visit: Inprocorp.com




SOUND DAMPENING
SEAL (J7D001)

CONT. ALUM. COVER
PLATE (J7C068)

CONT. ALUM.
RECESSED FRAME

3/8-16 X 4" PHILLIPS FLAT HEAD MACHINE
SCREW (7 PER PLATE @ 18" [457mm] O.C.)
(JK176)

SS. ALLIGNMENT PIN (1 PER PLATE) (J7A013)

NYLON SPACER (7 PER PLATE
16 9/16" /

(J7TA011-F)

&

@ 18" [457mm] O.C.) (J6J036)
[421mm] // ‘

T
[25mm]

6 1/2"
[165mm]

PER SIDE

REINF. EPDM VAPOR BARRIER
(JLO24-RVB) NOTE: SET IN CONT.
BED OF BUTYL SEALANT (BY
OTHERS) TERMINATE RVB AT
OUTSIDE EDGES OF SYSTEM

MIN. BLOCKOUT

HIGH STRENGTH EPOXY
/ GROUT (BY OTHERS)
%
7
HEX HEAD CONC. SCREW (7 PER
FRAME @ 18" [457mm] O.C.) (JK173)
3/8" x 1 1/4" [M10x32] FLAT HEAD DROPIN

ANCHOR (6 PER FRAME @ 18" [457mm] O.C.)
(JK214)

STEEL CENTERING BAR (WITH PRE-ATTACHED
COMPRESSION SPRING ASSEMBLE) (7 PER PLATE
@ 18" [457mm] O.C.) (J7J012-W-7)

6"
[152mm]

/87-A01-150
MOVEMENT =
JOINT WIDTH HORIZONTAL | VERTICAL
usS mm us mm us mm
FINISH: MILL 6" 1 52 3" 76 1 1 /2" 38
PROJECT: DATE: 1-12-18 [ )
APPLICATION-
CUSTOMER: FLOOR/FLOOR SCALE: 1:4 'n ro
PARKING STRUCTURE ®
LOCATION: DOC: CADJM.041/R8 For More Information Visit: Inprocorp.com




SOUND DAMPENING
SEAL (J7D001)

CONT. ALUM. COVER
PLATE (J7C069)

CONT. ALUM. RECESSED
FRAME (J7A011-F)

#

3/8-16 X 4" PHILLIPS FLAT HEAD MACHINE SCREW
(7 PER PLATE @ 18" [457mm] O.C.) (JK176)

NYLON SPACER (7 PER PLATE
@ 18" [457mm] O.C.) (J6J036)

SS. ALLIGNMENT PIN (2 PER PLATE)
(J7A013)
18 9/16"

HIGH STRENGTH EPOXY

\ [472mm] / GROUT (BY OTHERS)
T e

KN
=)
o
[25mm]
‘.\“
\“
\“
N L HEX HEAD CONC. SCREW
6 1/2" / e - (7 PER FRAME @ 18"
(165mm] g [457mm] O.C.) (JK173)
MIN. BLOCKOUT [203mm] - 3/8" x 1 1/4" [M10x32] FLAT HEAD
PER SIDE DROPIN ANCHOR (6 PER FRAME
@ 18" [457mm] O.C.) (JK214)
REINF. EPDM VAPOR BARRIER
(JLO30-RVB) NOTE: SET IN CONT. BED OF STEEL CENTERING BAR (WITH

BUTYL SEALANT (BY OTHERS) TERMINATE
RVB AT OUTSIDE EDGES OF SYSTEM

FINISH: MILL

PRE-ATTACHED COMPRESSION SPRING
ASSEMBLE) (7 PER PLATE @ 18" [457mm]
0.C.) (J7J012-W-7)

7/87-A01-200

JOINT WIDTH MOVEMENT

HORIZONTAL | VERTICAL

us

mm UusS mm UsS mm

8"

203 4" 102 2" 51

PROJECT:

CUSTOMER:

LOCATION:

DATE: 1-12-18
APPLICATION-

[ )
FLOOR/FLOOR SCALE: 1:4 'n ro
PARKING STRUCTURE ®

DOC: CADJM.041/R8

For More Information Visit: Inprocorp.com




SOUND DAMPENING
SEAL (J7D001)

CONT. ALUM. COVER
PLATE (J7C063)

/

3/8-16 X 4" PHILLIPS FLAT HEAD MACHINE
SCREW (7 PER PLATE @ 18" [457mm] O.C.)

(JK176)

NYLON SPACER (7 PER PLATE
@ 18" [457mm] O.C.) (J6J037)

SS. ALLIGNMENT PIN (2 PER PLATE) (J7A013)

CONT. ALUM.
RECESSED FRAME 04 1/2" . :L%%S(TSFESSTTH
(JTA012-F) \ [622mm] // ‘ (BY OTHERS)
oL =Ko
1"
[25mm]

HEX HEAD CONC. SCREW
(7 PER FRAME @ 18"
[457mm] O.C.) (JK173)

PARKING STRUCTURE

8 1/2" 3/8" x 1 1/4" [M10x32] FLAT HEAD
[216mm] DROPIN ANCHOR (6 PER FRAME
MIN. BLOCKOUT [254mm] @ 18" [457mm] O.C.) (JK214)
PER SIDE STEEL CENTERING BAR (WITH
PRE-ATTACHED COMPRESSION SPRING
REINF. EPDM VAPOR BARRIER (JL036-RVB) NOTE: ASSEMBLE) (7 PER PLATE @ 18" [457mm]
SET IN CONT. BED OF BUTYL SEALANT (BY OTHERS) 0.C.) (J7JO18-FW-7)
TERMINATE RVB AT OUTSIDE EDGES OF SYSTEM
MOVEMENT =
JOINT WIDTH
HORIZONTAL | VERTICAL
US mm US mm us mm
FINISH: MILL 10" 254 5" 127 | 21/2" 64
PROJECT: DATE: 1-12-18 [ )
APPLICATION-
CUSTOMER: FLOOR/FLOOR SCALE: 1:4 'npro
®

LOCATION:

DOC: CADJM.041/R8

For More Information Visit: Inprocorp.com




SOUND DAMPENING SEAL
(J7D001)

CONT. ALUM. COVER PLATE
(J7C065)

CONT. ALUM.
RECESSED FRAME

3/8-16 X 4" PHILLIPS FLAT HEAD MACHINE SCREW
(7 PER PLATE @ 18" [457mm] O.C.) (JK176)

26 1/2"

(J7TA012-F)

1

\ \ N\

NYLON SPACER (7 PER PLATE
@ 18" [457mm] O.C.) (J6J037)

SS. ALLIGNMENT PIN (2 PER PLATE) (J7A013)

HIGH STRENGTH
EPOXY GROUT

[673mm] /

(BY OTHERS)

e

T
[25mm]

—

7

/HEX HEAD CONC. SCREW

8 1/2" A, (7 PER FRAME @ 18"
[216mm] M [457mm] O.C.) (JK173)
MIN. BLOCKOUT /\‘\..\ L arex 1 14 [M10x32] FLAT HEAD
PER SIDE [ DROPIN ANCHOR (6 PER FRAME
REINF. EPDM VAPOR BARRIER — 12" @ 18" [457mm] O.C.) (JK214)
(JLO42-RVB) NOTE: SET IN CONT. [305mm] STEEL CENTERING BAR (WITH
BED OF BUTYL SEALANT (BY PRE-ATTACHED COMPRESSION
OTHERS) TERMINATE RVB AT SPRING ASSEMBLE) (7 PER PLATE
OUTSIDE EDGES OF SYSTEM @ 18" [457mm] O.C.) (J7J018-FW-7)
MOVEMENT #
JOINT WIDTH
HORIZONTAL [ VERTICAL
US mm US mm US mm
FINISH: MILL 12" 305 6" 152 3" 76
PROJECT: DATE: 3-5-13 e
APPLICATION-
CUSTOMER: FLOOR/FLOOR SCALE: 1:4 'n ro
PARKING STRUCTURE ®
LOCATION: DOC: CADJM.041/R8 . .
For More Information Visit: Inprocorp.com




